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1 Show how the commutative | aw can be used to
g. put the | arge?7 bheocmbmes {1+ s2 :

T Count on in ®nes2obeteowvmwess 5 + 1 + 1 and 8 + 4
Children wil!l practise counting on from any nur
Il nitially, use a number track to count on for &
progress to using number | ines.
T Partition srbal+l Snmmmmesj 4 0+ 1
Bl ]
= olo/e(ee
Oo/000O
9 Partition and comhi2ne Zebscame{©OOOOOl + 7
[eXel[e)[e
1 Use number fac®s=khowl@®dgre:6 + 1 or 5 + 2, et
T Number bonds o +1® and 203 ; 15 + 5 ; 16 + 4
1 Use concrete and pictori al representations t
10
® mMma I n 6 4
mMmn I ¢
@ ; 6+4=10
e - " 4+6=10
n l-cmn 10-4=6
&% 10-6=4
Tens Frame Part Whole Model Bar Model
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7 F G2 RAIAG ydzYoSNI I yR 2y SarT
9 | 62 RAIAG ydzYoSNI I yR GSyarT
7 (62 -K®B2A0 ydzYoSNAT
T OGKNBRAZAS ydzyYo SNE @
aSyual t { N 0S3IASA Lo e o
1 Use place value and say 1 more anre t
1 Use place valbé +o3paasib0on:30 = 80 then 7
] (m
: RE"
B b — )
\m inflin!
\m]
o
1 Use place value todpartPtbenomdbend@ad us@54 5
45 + 21 becomes 45 + 20 = 65 then 65 + 1 = 6
1 Count on in mubt#tpkResasf760+ 10 + 10 saying
e. g using hundred squares / base ten / numb
1 Use patterns ®&f +kBown 9f acspbs36 + 3 = 39 and 7
1 Bridge ths dugh5 1®&#s 57 + 3 + 2 = 62
1 Use number bonds to 10 knowledge when adding
6 + 7 + 4 as 10 + 7
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Count on in ones and tens, using an empty numbe

28+6=34

1 #H +1 +1 +1 +1
TANAAANAVAN
28 29 30 31 32 33 34
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28 + 30 =58
+10\\ +1I.:|\ +10_\
TANYANY/AN!
28 38 48 58

48 + 36 = 84

+10 +10 +10
ANV72 N SN o A Partition into tens
4{{@3@@@%- ) when adding

79 80 81 82 83 84

+ 30
+2 +4
. Begin to use more ef
48 78 80 84

Al so, use the partiti otiigigt meumboedr .0 add t wo tv

1 Partition the numbers into
tens and ones.
1 Add the ones together and
then add the tens toge%hel_rh.en move on to
1T Recombine to give the calculations that
answer . bridge the tens:
43 + 25=68 PHRRR 0 48+36=40+8+30+6
/N )\ OEEE™ 2
/ \ / \ | NN N b _
m] | 8+6=14
40 + 20 = 60 70+ 14 =84
- DR i
3+5=8 mj |\ \mlm _
+ =
60 + 8 = 63 HEEH ﬁg 48 + 36 = 84
mf| ] B
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1 Using place value to partition and count on
1 Use number | ines to support visualisations.
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165 + 56 = 221
+50 +6
o e T S
L7 X D@ S
165 215 221
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C 0]
co b OH|Partition thel numbers into Add the | gast
tens and ones/unitb_@_ H significant d
¢ n b 0 Add the ones togethefﬁ ad’]é t(pnes) togeth
then add the [tens together first and)|the
bo = b H , 'Etens.
' i onc n
n |"b cpp Recombine to |give t@e Recombine lto
L answer . Qp the answer.
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6 3 Reinforce the |l angluage of place value
to ensure understalnding:
+3_2 Three add two equalls five. Write five
in the units col umn.
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9 I FRAMAIG ydzYoSNI I YR 2y SaT

9 | FRAMAIG ydzYoSNI I yR GSyarT

9 I FRAAMA G ydzYoSNI I YR Kdzy RNBRaAT

7 I FRAA] G ywv0§MJ|yﬁ GK2dzal yRa®

' RR YR &adzo 0N} Ol ydzYoSNR 6AGK dzLJ 62 n RAIAGEZ
GKSNBE | LILINBLINALF GSo
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g aAy3a LXIOS GFfdzS G2 LI Nboa2y |yR 0O2dz/i
9 a8 ydzYoSNI fAySa (2 adzZl2NI Q@Aadz fAa

2NAGSY {UNFYOUS3IASA
| 2y oy dzS 62 G§SFOK GKS dzaS 2F SyYLXié ydzyoSN
F LILINR LINRF0S 0&aSS [ SIFENJo FdaARFYyOSO®
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Use the |l anguage of place valuege to er
MTc B mnTt T
M 1 T 6Seven add six equals 13. Write threece
6carryd one across into the tems col L
bM T ¢cC
O H O 40 add 70 and the ten that we g¢arriec
! ! Write 2 in the tens column (20) and ¢
dreds column (100) .
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2 NAgSY {GNFGS3ASa
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Perform ment al calculations, including with mixed oppErat
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DAGSY | ydzYoSNE ARSyasaTeé 2yS fSaao
WSFRX gNRGS YR AYGSNILINBG YIFGKSYI 3 IRt GXKE
aAdyo
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il

Children will practise counting back fro

back two. 06
BT a0 T8 S

@*ﬂ‘%

Sand I mora s T

lleszthan Tix 5
I nitially, use a number track or bead st
from the | argest number, progressing to

0000600000 4/,-71 _—

Use number bond f &a6bt=s5 t 63 71=01 @&5n=d2 2 O :
Use concrete and pictori al representatio
1%| F 4
000D COO0E 17=11+4 44 13=I7
BOE00 0O I7—4= 12 17-13=4
Use the inverse of addition to help with
10
. 6+4=10 6 4
®| s+4=10 4+5=m
4+6=10 10-4=86
@ | 0-4=5 10-6=4 6+4=10
. 10-6=4 4+6=10
10-4=6
. 10-6=4
Tens Frame Part Whole Model Bar Model
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7 | (62 RAIAG ydzYoSNJ adzo NI OG 2y SaT

9 | 62 RAIAG ydzYoSNJ adzo G NF OG GSyarT
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1 Use place value and say 1 |l ess and 10 | ess t

1 Use place val &1 5 oi-5p ara2i t-t thresn: £6®O® t hen 40 + 2
— \

1 Use place value to partition then adjust:
459 becomelsO 45 35 then 35 + 1 = 36
4521 becom2g® 4525 -then225

1 Count back in m&aROi p+$1e081600 fsalyi:ng 76, 66, 56
e.g. using hundred squares / base ten [/ numb

1 Use patterns ®&f3 knmodwn3df@mc3B® :-8nd 78

T Use known facts t o MOr iadsgmes2Zt kr d8gh 10:

e.g. use tens frames |/ base ten [/ number | in
O O o © O
O o @ @
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